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CPS Loop Back, PF2 L1 Fault

CPS Laop Back, PF1 L1 Faultfffig 11me: -0.4935

CPS Loop Back, OH L1 Fault

CPS Loop Back, TF L1 FaultTfip JTime: -0.49354/

Trip Time: -0.4935.

FIpTIme: -0.49354
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A Al lnput PE211 FaultTrip Time: -0.485001
AT Input, PE1 11 FaultTrip Time: -0.485001
2| —Allnput, OH 11 FaultTrip Timel: -0.485001
| _Al Input, TE 1.1 FualtTrip Time: -0.485001 _ _ _ _ _
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10 F _DCPS Loop Back, PF2 L1 Fault]

g+ -DCPS Loop Bac k, OH L1 FaultT

| _DCPS Loop Back, TF L1 FaultTn

| _DCPS Loop Back, PF1 L1 FaultTORE 11me. -0.1236

‘tip Time: -0.1236

FipTime: -0.12366

P Time.-0.12366
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4 —ATllnput PE211 FaultTrip Time!: -0.114401
AT Input, PE1 11 FaultTrip Time: -0.114401
2| Al lnput, OH 11 FaultTrip Time:-0.114401
| _AlInput, TE 1.1 FualtTrip Time:1-0.114401 _ _ _ _ _
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10 | -RCRS Loop Back, PF2 L1 Faul{Trip Time: -0.7734D1

| _DCPS Loop Back, PF1 L1 Faul{Top 1mne: -0.7734D1
g | -DCPS Loop Bac k, OH L1 Faultfrrip_Time: -0.7734Q1

| _DCPS Loop Back, TF L1 FaultTrip JTime: -0.77340]
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A Al lnput PE211 FaultTrip Timje: -0.765400

Input, PE1 1.1 FaultTrip Timje: -0.765400

2 T Input, OH 1.1 FaultTrip Time: -0.765400

AT Input, TE 1 1 FualtTrip Timef -0.765400
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10 | -RCRS Loop Back, PF2 L1 FauliTrip Time: -0.6404;

| _DCPS Loop Back, PF1 L1 FaulfTOp Tmne. -0.6404

g | -DCPS Loop Bac k, OH L1 FaultTrip_Time: -0.64042

| _DCPS Loop Back, TF L1 FaultTrip JTime: -0.64042¢
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4 Al lnput PE211 FaultTrip Timp: -0.632000

AT Input, PE1 1 1 FaultTrip Timpe: -0.632000

2| —Allnput, OH 11 FaultTrip Time: -0.632000

AT Input, TE 1 1 FualtTrip Time] -0.632000
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10 -RCPS Laop Back, PF2 L1 Fault]

g+ -DCPS Loop Bac k, OH L1 FaultT

| _DCPS Loop Back, TF L1 FaultTy

| _DCPS Loop Back, PF1 L1 Fault T8 11me: -0.1933

FIp-TIme: -0.19332

o Timer -0.19332]

[rip Time: -0.1933P
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A —Allnput PE211 FaultTrip Timeg: -0.184200
AT Input, PE1 1 1 FaultTrip Time: -0.184200
2| -Allnput, OH 11 FaultTrip Timey-0.184200
| _AllInput, TE 1.1 FualtTrip Time:[-0.184200 _ _ _ _ _
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CPS Loop Back, PF2 L1 Fault]

| _DCPS Loop Back, PF1 L1 Fault T8 11me. -0.0769

CPS Loop Back, OH L1 FaultT|

CPS Loop Back, TE L1 FaultTr

rip Time: -0.0769

p-Time: -0.07695

p Jime: -0.07695;
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4 Al lnput PE211 FaultTrip Time: -0.0676003
AT Input, PE1 11 FaultTrip Time} -0.0676003
2| —Allnput, OH 11 FaultTrip Time: -0.0676003
| _Al Input, TE 11 FualtTrip Time: F0.0676003 _ _ _ _
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10 F _DCPS Loop Back, PF2 L1 Fault]

g+ -DCPS Loop Bac k, OH L1 FaultT]

| _DCPS Loop Back, TF L1 FaultTr

| _DCPS Loop Back, PF1 L1 FaultTORE 11me. -0.0124

'tip Time: -0.0124]

pTIme -0.01247

Ip Jime: -0.01247]
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A —Allnput PE211 FaultTrip Timef -0.00300026
AT Input, PE1 11 FaultTrip Timef -0.00300026
2| -Allnput, OH 11 FaultTrip Time:[-0.00300026
| _Al Input, TE 11 FualtTrip Time: +0.00300026_ _ _ _
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10 -RCPS Laop Back, PF2 L1 Fault]

| _DCPS Loop Back, PF1 L1 Fault O 11me. -0.2434

g | -DCPS Loop Bac k, OH L1 FaultTip_Time: -0.24344

| _DCPS Loop Back, TF L1 FaultT

[rip Time: -0.2434

TP Time: -0.243424
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A Al lnput PE211 FaultTrip Time: -0.234400
AT Input, PE1 1 1 FaultTrip Timeg: -0.234400
2| —Allnput, OH 11 FaultTrip Time] -0.234400
| _Al Input, TE 1.1 FualtTrip Time:1-0.234400 _ _ _ _ _
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10 | -RCRS Loop Bac k, PF2 L1 Fault]rip Time: -0.2007{5
| _DCPS Loop Back, PF1 L1 FaultT8p 1me: -0.2007{L5
g | -DCPS Loop Bac k, OH L1 FaultTfip_Time: -0.200715

| _DCPS Loop Back, TF L1 FaultTgip Time: -0.20071}
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A —Allnput PE211 FaultTrip Timeg: -0.191601

AT Input, PE1 11 FaultTrip Timeg: -0.191601

2| -Allnput, OH 11 FaultTrip Time1-0.191601

Al Input, TE 1 1 FualtTrip Time:1-0.191601
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